= 5 x=—27F a7} H= o] AP A2 (BH 2 7H)

@x(x—l—2):0 @ x*+2x-3=0
(@)x2—|—6x+820 @ 2x2—x-1=0
® 2x24+4=0

®-2-(-2+2)=0
® (-2)2+6-(-2)+8=0




2.

Oh& o2 A Fol A S

D x®4+8=6x+1
® (x-2)?%-x=1
® x2-1=0

ZF

7t 7

A

filo

29

rr

@ 6x2-9x4+9=0

@3x—1:4x2—x

@4x2—4x—|—120




3. (x+2)(x-5) =00l Fol 57| st x o] A5 e T2

@1 @ 2 @3 @ -3 ® 4

x+2=0EE=x-5=0
x=-2E=x=5
Lo =245=3




X2 —dx+k-5=09 0]

w4
=7

N oF
o H

® k<9

@Dk>9

D k=9

® k>-9

@ k<9

D= (-4)2-4(k-5) <0

4-k+5<0
k>9




H 2 Zfof SF AL ZESle] 2 H] ST Y, A&
Asac} 24 74 Aol ol @ A4 g Foha?

@ 8 ® 10

ol# Z+ASE x 2hal shi

¥ =2x+24,x2-2x-24=0
(x—=6)(x+4)=0
x=6F=x=-4

wEbA x = AAFO|BEE x =6




E919] Zo]7} 32em ©]1L, Hel7t 56cm? )1 2 ARz
ExZt @, oS 35 82 27

9] 7}z] el

@ x(32-x) = 56 @ x(16 - x) = 28

® x(32-x) =28 @x(lfi - x) =56
® x(32-x) =112

7122] 71012 xeme} 54, A2 2] ZolE (16 - x)em oI},

" x(16 — x) = 56




7. OAFAA 2 tax—a-5=092F 20 x=2 x=bA T, a+b

o) gre?

(x=2)(x—b) =0
X2 —(24b)x+2b=0
L24b=-a, 2b=-a-5
b=-3,a=1
La+b=-2




rlo

O AP A x2 —3ax+8a =02 St Zo| gL W, o} F 2

H7]

® Fol1 BHAL (x+p)? = g o B2 ehfw
p=-6, g=4 0|},

pe,0 200 Gove @®ee 660

B

Fol7l ¢ 2 x =8 & AUt
64 —24a+8a =0

Loa=4

wabA Fo7l 1%x -12x+32=0
(x—4)(x-8) =

x=4% ,_x—8

Da=408>0@8x4-16# 00|22 22 AL ©, @°|t}.

AL

9




9.

o -

5 3 2
@_5 Q -2 ®1 @)g

OJ AT 22 - x -6 =0 ] F 2] Fo] 322 ~5x+a =02

o, o2 3 & LoH?

N | Ot

1.0]
=

¥ —x-—6=(x-3)(x+2)=0
x:3’ x:—2

orebA & 9] g2 1 o|th

3x2=b5x+a=0°x=1< HYstH
3-5+a=0
Ta=2
3x* =5x+2=(x-1)(3x-2)
= 2

.. :15:_1__‘ == 5
X X 3




10.

Oh& 13 o) 7k o] Zo|7h Al =2 o]

Bt} 5m 7 AAZY meke] go Zol 1m
QA WEAEY He @] Yol7h 45 m?

7F = A, o] e Az o] dol&?

® 3m @5m ® 7m @ 9m ® 11m

B

Az 2] do]E xm e} st
x(x+5)—x=45

¥ +4x-45=0
(x+9)(x-5)=0
“x=5(" x>0)




of 27]jo]t}

rJ
Bl

@
k=—6°]

J

o
rJ

—_—

2%
o] 17jo] et

-
B

®
k=o0°]

B!

Q)k:lﬂ

®
k=39]

o] 174

3
<k :o] 270




12.

@1, -7 @—7,2 ® 49 @3 -5 14,1

B

FHol 6= &k
3(x=2)(x+1) =2(x—2)2
3x2 -3x-6=2x2-8x+38
2 +5x-14=0
(x+7(x-2)=0
Lx=-TEEx=2




flo

13. O|FAA 42 fax+ b =0 9] T 9] 27} 4 o)1, & o] 7}
O 3 i wfl, a + b O] FE2?

®-2 @-3 03 @ ® 5

B ,

2,62 F 202 2 tax+b = 00 JUste] AHsA
a=-8, b=12 7} Yt}
webA g+ b = -8 + 12 = 4 O[T},




(n—=1)n
2

14. A% 1904 n- 1747 9] T olty. A4 6FEH n-1

72 €] ghol 21 Y i, n o] F2?

® 7 s @) @10 6u

~&B

6+7+8+--+n-1)
=(1+2+--+n-1)-(1+2+3+4+5)
(n—1)n
2
nn—1) =172
n-n-72=n+8)(n-9)=0
n>00]B2 p=9o|th

-15=21°0]22

\_




- 5 =
AN x- 2 =7 9 £ 2o, AL T, (02~ Ta+ 7)(B -

7B+ 3) 9] #t& okH?

@® 21 @ 35 ® 60 @96 ® 140

~&B

x—;=7°ﬂ/‘1 oplof x 2 BEH x2 - Tx—5 = 0

o] A x = 5 27 thYSHA

@ -Ta-5=00°N4a®>-T7a=5
B2-18-5=0°0Xp-78

g (a2—7a+7)(,32—7ﬁ+3):(5+7)(5+3)=96




